PROGRAM TRACE TABLE

Program Source File: 







Directions are listed on the next page – read them all before starting!!
	Line#
	Program Statement
	joeStreet #
	Joe Ave #
	Joes Direction
	Joes Backpack

Contents
	Robs street #
	Robs Ave
	Robs Direction
	Robs Backpack contents
	Printed output
	Extra Column 6

	50
	City ForgetsVille = new City ();
	-
	-
	-
	-
	-
	-
	-
	-
	-
	

	51
	MysteryRobot joe = new Mystery Robot(ForgetsVille,4,0,Direction.EAST, 0);
	4
	0
	E
	0
	-
	-
	-
	-
	-
	

	52
	MysteryRobotSubclass rob = new MysteryRobotSubclass(ForgetsVille, 3, 0, Direction.EAST, 0);
	4
	0
	E
	0
	3
	0
	E
	0
	-
	

	54
	joe.pace();
	4
	0
	E
	0
	3
	0
	E
	0
	-
	

	21
	this.move();
	4
	1
	E
	0
	3
	0
	E
	0
	-
	

	22
	this.move();
	4
	2
	E
	0
	3
	0
	E
	0
	-
	

	13
	Public void.turnAround();
	4
	2
	E
	0
	3
	0
	E
	0
	-
	

	15
	this.turnLeft();   
	4
	2
	N
	0
	3
	0
	E
	0
	-
	

	16
	this.turnLeft();
	4
	2
	W
	0
	3
	0
	E
	0
	-
	

	24
	this.move();
	4
	1
	W
	0
	3
	0
	E
	0
	-
	

	25
	this.move();
	4
	0
	W
	0
	3
	0
	E
	0
	-
	

	13
	public void.turnAround();
	4
	0
	W
	0
	3
	0
	E
	0
	-
	

	15
	this.turnLeft();   
	4
	0
	S
	0
	3
	0
	E
	0
	-
	

	16
	this.turnLeft();
	4
	0
	E
	0
	3
	0
	E
	0
	-
	

	55
	rob.pace();
	4
	0
	E
	0
	3
	0
	E
	0
	-
	

	21
	this.move();
	4
	0
	E
	0
	3
	1
	E
	0
	-
	

	22
	this.move();
	4
	0
	E
	0
	3
	2
	E
	0
	-
	

	39
	Public void turnAround();
	4
	0
	E
	0
	3
	2
	E
	0
	-
	

	41
	System.out.println("Hey, how's it going?" );
	4
	0
	E
	0
	3
	2
	E
	0
	Hey, how’s it going?
	

	13
	Public void turnaround()
	4
	0
	E
	0
	3
	2
	E
	0
	-
	

	15
	this.turnLeft();   
	4
	0
	E
	0
	3
	2
	N
	0
	-
	

	16
	this.turnLeft();
	4
	0
	E
	0
	3
	2
	W
	0
	-
	

	24
	this.move();
	4
	0
	E
	0
	3
	1
	W
	0
	-
	

	25
	this.move();
	4
	0
	E
	0
	3
	0
	W
	0
	-
	

	39
	public void turnAround()
	4
	0
	E
	0
	3
	0
	W
	0
	-
	

	41
	System.out.println("Hey, how's it going?" );
	4
	0
	E
	0
	3
	0
	W
	0
	Hey, how’s it going?
	

	13
	Public void turnaround()
	4
	0
	E
	0
	3
	0
	W
	0
	-
	

	15
	this.turnLeft();   
	4
	0
	E
	0
	3
	0
	S
	0
	-
	

	16
	this.turnLeft();
	4
	0
	E
	0
	3
	0
	E
	0
	-
	


\
